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Time: 2 hours

\l_C) READ THESE INSTRUCTIONS CAREFULLY
1. Y;sq?!?{meﬁeen given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
E\Q{J 1'1,- necessary rough work in this booklet,

if.\}vlv"hcn you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.

<<°\x S .
& HOW TO USE THE ANSWER SHEET

4. Use only an ordinary pencil.

5. Make sure that vou have written on the answer sheel:

YOUR INDEX NUMBER
YOUR NAME

NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Mumber (i.e. School Code Munber and the
three-fipure Candidate’s Mumber) in the grid near the top of the answer sheet.

7. Do pol make any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it

9,  For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer,

10.  On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you have
chosen 15 written.

Example
In the Question Booklet:

9, What is the next number in the pattern:

12,24,48 .7
A, 60
B. 72
C. 84
D. 96

The correct answer is B (9-6).

n the answer sheet:

El_.‘-’t.l TBr T e ﬁlﬁ.: 181 1Ga |'.|-_',|_. ﬁ-,ﬂu LR G D El.ﬁ.' By i ml.ﬁ.. 1By S

In the set of boxes numbered 9, the box with the letter D printed in it is marked.
11, Your dark line MUST be within the box.

12, For each question ONLY ONE box ig to be marked in each set of four boxes.

This Question Paper consists of 15 printed pages and 1 blank page.
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1. Which one of the following numbe ‘i\\lh Iwenty-six
millien, tour hundred and thirty t &Mnd two hundred
and nine.dn symbols?

A 26432009 vﬁ\
B. 2643209 S
C. 26430200 >
D 264302009 Q}@
QT
2. Which one of the R 0&"[!1-& statements is correct?
A 22075 O &
It ; < ﬂ-\l6\ foQ
BN
o4 Qgt ,g_'o
|‘J§%"QQR:~
E©
(hg(‘&uuckr. eper donated S tonnes 'of sugar to families in a
h\ \-.II' age. Fach famity receved 2.5 ke of sugar,
How many familics benefited?
A, 20000
B, 2000
B 200
D 20
4. Omthe diagram below construct a perpendicular from R

to cut PO at 5. What is the length of RE?

P
Q
A 4.9¢em
B, 4.1cm
C.. 52cm
. 58cm

-/ [ www. freekcpepast papers. com

5. On the disgram below EF 5 paralle] to GH and JK is a
transversal. Which one of the angles 15 equal to KR

A. SRH
B. /GRK
C.. ES}
D J8E

She; gle -5

0. Mwende had mangoes, and . shared  the
remaining among her 6 fiiends. She however found that
she needed 2 move mangoes if each of the friends was 1o
gel 4 mangoes, How ' many’ mangoes had ‘she at the
beginning?
AL 22
B L2
C.29
D. 31

7. Maloba deposited sh 8000 in a financial institution that
paid simple interest. At the end of 3 years this money had
amounted 1o sh 9 200. At what rate per anpum was the
simple interest awarded?

A 5%
B. 15%
C. 38i%
D. 4%

8. Adhiambo left home and cycled for 14 hows at an

average speed of 8 km/bh. She rested for 30 minutes and
continued with the journey for 2 hours al an average
speed of 74 knv/h.

What was the av eragespeed for the wholggouwmey?

ASET km'h
B.ow Fddilandh
ey el
). 62 kmih

Support through M pesa 0720502479. This paper is not for resale.


http://www.freekcpepastpapers.com

2
QD
"o .
9. The bar graph helow shows the number and s&@es of pairs Working Space
of shoes sold in one week. ?g\
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Shoe sizes

Which size of shoe was bought most?
A 12
B. 11
c. B8
D7
10. What is the difference between the total value of digit 3
and digit 9 in the number 6E039017
A, 4]
B. 2100
C. 3000
D. 3500
6(24—18)+ 6x4
O

11. What is the value of

30
25
10
28

Unw e

LAY
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12. What is the area of a square lﬂl!dwggl%w perimeter is | 15, The figure below is a square in which the diagonals
16 metres? intersect al R

A 2m? vﬂ\

BE. J"TIE‘: !ﬂ: é Q r
C. 841 m? '&Q
D. 3364 m ©
e} S

13, Juma slept at 2]"5&? ﬁr‘l"lul sleeping for & h 45 min he 24
woke up. At wk‘@"ﬂ\té}m in am/pm, did he wake up?
.n. ﬁ 154 .Q

. éh\n\Q
c %
I'} Qﬁa i M
g}
14zQJ‘Q%U line PO below, construct a parallelogram PORS in :
‘\K so‘.}h-.{n} OR = 75 cin and angle SPQ = 60°. Join PR. Wh:c_h of the following statements t= true for triangle
2 MEN?
(@* \ A, All sides are equal.
< \ B, All angles are equal.
QO\\Q . Oneangle is 607,

D. One angle is a right angle. ~

16. 1fa shopkeeper sells a basin for sh 72, he would make a
loss of 10%. At what price must he scll the basin o that
he makes a profit of 20067

A, sh9g
B. sh &6.40
C. sh&80
D. sh 7920
17. What is the value of M when x=3, p=x+13
§ .

and w = 2x + 37
A— )2
B, 24
. 56

L] D, 1dd

P Q
What is the size of angle PRS?
A 1207
B. 407
c. 30°
D, 20°

90
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18. Below are two graphs. One graph shows the §mey by a
bus from Mairobi to Nakuru. The other si@\ 5 the journey
by a car from Nakuoru to Nairobi. S
Q>
’ ; )
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TN RS EEEERmERERRLiRE
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How far from Nakuru was the bus when the car reached
Nairobi? |

A 115 km

B, 90km

C. o60km

D. 35km.

19. In a meeting 2 of the attendants were women, + of the

remainder were men and the rest were children. There
were B0 men in that meeting. How many children were
there?.

A 120

B, 240

. 430

D, 800

20. What is the number 15-76 rounded off to the nearest
tenth? d ’
A 157
B. 158
C. 16
. 20

21. What is the value of %-F%— of (%_%}4.}><%?
A 14

143
B. 11

C.oid
D

-2
230

91
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A school contributed money for a pr poct as follows:
Pupils in class 1 -4 contributed &@ 10V each
Pupils in class 5-8 comribge s 20 each
Teachers contributed sh wé}m{ i
The Headreacher con n'ur.ff:f sh 300
Each class in the ::C]@ vas double streamed with 30
pupils per stream @1 nber of icachers incloding the
headteacher Wti\%é‘luw much money was contributed
altogether? '\0 Q,

_-"L_ sh 1 ;{'G’Lb’b-Q

@F
59%@%,33

{@ Qﬁ'u.. table below shows the fore in shillings for a matalu

\Q)
SNV Natkos
o
R ;
Q& | 150 NAIVASHA
? 200 50 ‘ GILGIL
230 150 | L0 | NAKURU
S— S L
Fourteen passengers boarded the matatu at MNairobi,
Seven of the passengers alighted at Gilgil while live
others boarded at Gilgil for Nakuru.
How muuch money altogether did the driver collect?
A, sh 3630
B. sh3 500
C. sh3150
. sh 1900
24, The table below shows the number of pupils who were in
pup

|
L

travelling from Nairobi to Naku,

standards 1 to 4 in a2 certain school from 2001 o 2004,

Sl | sd2 | sd3 | Sdd |
om0 | o | 1 | se | ss |
2002 83 77 7 57 |
2003 86 80 74 6 a
2004 8 | 83 fif 71|

How many pupils of the class which was in Std 1 in 2001
had dropped out of that class by 20047

A 24
B 16
=4 p

I 2

26. What is the value of 5 in the equation i +§{s + 5y =67

A 20
B. 1
C. 103
D 2%

27.

The bar graph below shows the number of pupils in six
classes i a school.

. A Mumber of pupils
0 THHHRH THH
- L-j. T K
BEENELEN E] HENE
40 | s T
Muomber B S
of pupils HHH T EE -1
per class i o N -
20 PR B
: aeE -
] - -
A EHE N T
R
o EEEEE T N

1 2 3 4 5 0
Classes

What is the mean number of pupils per class?

A, 26
B 38
C. 41
D. 246

28. ‘What is the next number in the sequence

&, 13,24, 37, ?

A, 38
B. a6
C. 54
0. 52

] 29, A rectangular container is 80 cm long, 50 cm wide and

40 cm high. The container is filled with water to a level
30 cm high, What is the volume of the empty space in the
container? 3 '

AL 180 000 em?

B. 160000« n~"

C. 120000 cm

B A0 000 em?
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30. A team of eleven players took lunch in a E{mel, which Working Space
offered food prices as shown in the table l{@aw.
¥
Ugali Rz\@ Chips
| >
i Beef sh 60 o sh 63 sh75
|
i S
!_E hicken : sh ?SQ%,Q O sh 70 sh 100
| Fish S (9] shB0 sh 105
R
.\6 rb.Q
3 players %%&% ugali with chicken
3 pfa_ve(@m@mok chips with fish
The (@hg@ing players each took rice with beef
Mg a one-thousand shilling note to pay for the

{5& Q@all the players.

'ﬁ‘balanca did he get?
L aysh 55
(@\\ , shlls

S o ¢ sh310
O R
Q‘Q‘\\\ D. sh B85

31. The diagram below is a scale drawing of a plot of land
drawn to the scale 1 : 1 500,

What is the actual zrea of the plot, in m??

A, GO0 000
B, S0 GO0
C. 13500
D. 5140

28-05%32 +:
32, What is the value of —3 7

-4
Al 42
B.i« 18
C. 105
D. 259

g
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33. ser sclls goods for a company. She 15 fﬁ\uj a salary of
sh 84 000 per month plus a commis i of 20% for the
sale of goods worth above sh ]Ug@g}ln one month her
total earnings were sh 150 000What was the value of
the roods she sold? S

v sh 760 000 >
B, sh 340 000 &6
c. shizoone S
D. sh244 o {

N
A father sinﬁﬁ:‘%ﬁw'm} among his three children Mubwa,
'-.'y-':n'_u_-:[:l@&'\tng'&-clwm. Waungare received sh 10 more than
.%\Clé;b f @”E Mulwa gotl twice the amount Wangare
Pz 'Ql?h._-gﬂ teceived sh o, which one of the following
*’x{;ﬂ_@ﬁhiuns represents the total amount of money given
@QJ meflw three children?
&ML dar e 30

34.

< B, 4e+ 10
N .
(@\\ Co Zr+20
. D. 3x+ 30
Q& g 2y : S
35, 1n a class the ratio of the aumber of bows to girls is 2:3,
What is the percentage of the number of boys in the
cliass?
A _E-BJ_:- Y
B. 40%
C. o0
(3 66

36. The diagram below is a net of 1 solid,

.-"'f e
< >
Kn.i :
- i
| !
' i
|
I the el sbowhizh one of the faliowing diagrams
represerds e soiid formed?
I-'| Yy _'_'_._'_'___,_,—-
h """-,\ T [
il L1 TFF 1
Lot N e
S A SRR -.-,;__hqid__r_ﬂ_-—-—
h B
__z_' "\
// \\
ey /
-
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40.

The figure below represents a  wvegelable  parden
consisting of a square and four semicircles each of
diameter 4-2 m. '

54 m 5-dm

42 m 4-2m

34 m

42 m

What is the area of the garden in square metres?
(Take m =42)

By BHG
B, 223

C.. 25272
D. 33588

What is the difference between the L.C.M and the G.C.D
of the numbers 24, 32 and 407

A a
B. 472
{0, 480
0, 484

A school offurs only 4 pames. Each pupil was ashed to
choose one favourile game out of the 4.

(-4 of the pupils chose football

(2 afthe papils chose netball

3 of the remaining pepils chose basketball

Fhe vest, who were 112 pupils, chose hockey

What was the total number of pupils who chose toothall
and netball?

AL 240
H T
400
L. &0

A saleslady had 2 240 litres of juice which she packed in
500 ml and 250 ml packets. Three-quarters of the juice
was packed in 500 ml packets and the rest in* 250 ml
packets.

What was the total number of packets used?

Al 56
B. 560
C. 5600
DL 56000
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41. A rectangular plot of land has a p‘erimcter\& 35 m. The
longer side is 10 m. A wall is to be mn?@%ted along one
of the diagonals of the plot. What wiyld be the length of
the wall? Q}Q
A. T84 m Q}Z\

B. 17dim
c. 71 2 QQ}QOO
- e m Q (2N
Ot
D 12im N
9 ro.Q
A\

42. Mary hnu ’b@wt on hire purchase terms. She paid a
-:‘Ieposlr %@% and 15 equal mnnﬂ':l'.r instalments of
sh 700N d he hire purchase price was 23% higher
qhmqﬂ‘]ce sh price. Amina bought the same type of T.V
seiqicash. How much more than Amina did Mary pay

Kfo' e TV set?

§\ sh 2 260

0* Q sh 2 825
C&S Cosh9 040
D. sh 11 300
43. In triangle PQR below, PQ = 8cm, PM = MQ and
PR =R(=5cm,
What 15 the area of the triangle PQR? .
A Tlem®
B. 6ecm?
C. 124em?
D. 12om®
44. Eighteen people can take 72 days 10 complete a piéce of

waorle [F2 of the people did not turm up for the work, how
many more days would the remaining number of people,
working at the same rate, take to complete the work?

45. Pupils:in classes 5,16, 7and 8 were to:raise funds for a
party. Class 7 raised sh x while class 5 raisedt L of what
class 7 raised. Class 6 raised sh 100 less than the total
amount raised by both classes 5 and 7. Class 8 raised
sh 200 more than class 7. If the total amount raised was
sh 6 900, which one of the following equations can be
used to find the amount raised by each class?

PR afr + 100 = 6 900

Ix+ -;‘x - 300 = 6900
Ix+ 11 + 300 =6 900
3x + 2x + 100 =6 900

v 0w

46. On the trangle EFG below. construct the bisector of
angle EFG to meet the ling EG at M. Construct the
bisector of angle FEG to meet the line FG at N. Mark P
at the point where the two hisectors intersect.

L
_>a

i

E

What is the size of angle EPF?

A 113
LB e
o .
D. 20

47. What is the value of \,"E_J,? +2 ﬂ x(3)"?

A L&
B. 1}
G 11
D.

2006, the enrolment decreased by 10% from that of year
2005, The enrolment increased by 20% in year 2007,
What was the enrolment in year 20077

48. n year 2005, enrolment in a school was 450. In the vear
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B. &1
C. 153
D. 575

95

_ A, 396
"B, 486
C. 495
D. 584
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49, 4 cylindrical tank of diameter 1% cm contains
4835.1 litres of water. What is the liﬂ@ of the waterin

the tank? &)
(Take = ""T';I'} S ?S\
Al 5.6 cm ' 'bo

B. 56 cm \9

. 224 em & (Q

Q
D. 1470cem P C 3

@
50. How many b&e Qgén be used toake the pl]e shown in
the d:agr%h\kﬁw’ -
‘</
e, 7
<
@ &
ik ! /f
2 $§\i
\ Pd
éo\\ /‘
>
& 5 f‘
AN
f |
d
/f'
| F /
B
A. &3
B.oob
C. 54
D. 36
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